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100
HED 100
HE D 10000
HED 1000
HE D 1000
HE T 1000000

lha = 100m x 100 m = 10000 m? = 100 a
1km? = 1000 m x 1000 m
= 1000000 m2 = 10000 a = 100 ha
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(8 +14) x 9 + 2 = 99( m?)
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1kg =1000g, 1t = 1000kg
2.9kg = 2.9 x 1000 = 2900 g
4.5t = 4.5 x 1000 = 4500 kg
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2900 + 4500 = 7400 YU T},
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= (452 + 438+ 41.4 +48.7+ 39.5) + 5

218.6 + 5 = 43.72( kg)
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@® 2km? = 20000a @ 6ha = 60000 m”
@)40km? = 400ha @ 500ha = 5km?

® 70000m? = 7ha

® 40km? = 4000 ha




11. o= FelA |elzt 7+

ol
ru
pos
flo
2
|r
vl
o
i
N
pv)

@ 0.04km? @ 0.4ha ® 400a
(@) 100000 m? ® 4ha

B

T e 92 1A A vlus) FYrh
@D 0.04km? = 4ha

® 400a = 4 ha

@ 400000 m? = 4000a = 40 ha
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@ 4a=400m? @ 2000a = 20 ha
® 6km? = 6000000 m? @3500000 a = 35km?

® 780000m? = 78 ha

@ 1km? = 10000a °|E&2
3500000 a = (3500000 + 10000) km? = 350 km? ¥ c}.




3km? + 200 ha + 700a = (

)ha

= g ha
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[> HE. 507ha

TS haZ THA At
1km? = 100 ha = 10000 a

3km? + 200 ha + 700 a

= 300 ha + 200 ha + 7 ha = 507 ha
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600 X 200 + 2 = 60000( m?)
= 6(ha) + 1(ha) = 6(7H)




21. 7oyl 32ha 9 E=olA & 5.6t & AASIAL, THYE 4.5ha
4 —‘mﬂ/ﬂ & 7920 ke 2 AASFALSUTH 1a & AAEES o] o)
% kg H BHUE?

®© 72, 1kg @ 72, 0.1kg ® ¥4t 0.01kg

@ "4F, 1kg @‘?J'Fh 0.1kg

B ~
7Aooy 1a F AA4=F : 3.2ha = 320a,

5.6t = 5600kg = 5600 + 320 = 17.5( kg)

A 1a T RBAEEF @ 45ha = 450a,

7920 + 450 = 17.6( kg)
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17.6 —17.5 = 0.1(kg) & @5t
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